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GPS Global Positioning System
1970 DOD(Department of Defense)
1974
NAVSTAR(Navigation System with Time Ranging)
1993 12
24
1995
2000 5 2 13 JST SA(Selective Availability)
100m
GPS
SA
1991 (International civil
Aviation Organization : ICAQO)
GPS-SPS
(EU : European Union) GALILEO
GPS GALILEO

GLONASS(Global Navigation Satellite System)
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GPS/INS

GPS

GPS

C

Ring Laser Gyro(RLG)

MATLAB

GPS

Inertial Navigation System

INS

INS

INS

INS
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GPS
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10.23MHz 154
L2=1227.6MHz 2

Positioning Service ()
Service
ephemeris

almanac

WGS84 World Geodetic System
WGS84 DMA Defense Mapping Agency
1984

L1=1575.42MHz 120

SPS Standard

PPS Precise Positioning

2-1
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L1=1.575.42MHz (154><10.23MHz)
L2=1.227.6MHz (120>10.23MH?z)

GPS GPS
107%
2
GPS 1
10 1024
uTC Coordinated Universal Time
2.1.2 GPS
le 300 Ev k =6H '
2—F 1 2 3 4 5 B 7T B 8 10
TiiH: i | H | i i ':
Liloil i i ; |
milwil i i i ‘ ; J
1 " E_"_/ “'\\ ..-1\.!...!..” ;.- -J-H 20
n-_’-:-l:el ! Fig E;tu;—; 1] b= {1 |
a4y k |6y
—
17=F=30 v |
(a) -_:'L-'—_f..mh'f-_ (b #+5=7 :-’_J'IHJ."Z
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GPS
GPS
50bps
1 2-2 a
1 1500 30
5 300
1-3
4 5
1~-25
25
12 30
2-2 b 1
30 1 10 24
6 TLM telemetry
HOW hand over TLM
HOW GPS
2.1.3 1
1
2-2
n 2"
2
SVhealth O
URA 15
Teo L1
TGD
2-2
T—F JEv Full EY B A ZH5—NL] == L1
1 1 22 TLM Flad U7 —
F 31 22 HOW N EA—INI—F
a B1 10 WHN L L} 0
73 4 URA
77 6 SVhealth LT T T &S
B3 2 MSE 10DC Oy 2iEHER
T 187 8 T@ -31 (=] -]
8 211 B LSB 10DC ZO & -
219 16 toc TRy BN (20w 5 a 5
] 241 [ af2 Oy ZMERB -55 [w] 5/5%
249 16 af1 SO0 2 MIERE —43 =) 5/s
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GPS
tOC
2 afO’afl7af2 3
TGD tt
At, = _{afo +ag(t-t,)+a,(t _toc)2 +At, _TGD} (2-1)
At,
2e./u A
At, =———"—sinE (2-2)
c
A E
u, =3.986005x10“ m°/s?
10DC
10DC
2.1.4
2-3:
O-—F ErMEY FB AE 25— W= i
1 1 22 TLM FLARYT—F
2 31 22 HOW Ny B —ItT—F
3 81 8 10DE NARESE B
4 91 16 An -31 0 sc/s
107 | 8 MSB
6 151 16 Cuc TN LI R 29 0 rad
150 | B MSB
7 181 | 24LSB . s -33
[ 211 16 Co DM E RS -29 0 rad
227 | 8 MSB ~ e
9 241 | 2418 YA RilTE 19 m
10 271 16 tee TKy 2R (all) 4 s
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2-4 .
[(O—F Ev rOmEY FB AE Aor—]| We B
1 1 22 TLM FLAMUDT=F
2 31 22 HOW NAEA=N7-=F
3 61 16 Cie B0 ¥ TF O -29 o) rad
77 8 MSB _
2 91 24 LsB Qq RESRE 3 o sc
5 121 16 Cy P TF -29 0 rad
139 8 MSB _
A 151 24 LS8 Iy MMM n o sc
7 181 16 Cy Hhil i IF OF 8% ] O m
197 8 MSB _
3 211 24 LSB w Fis el - 31 o sc
9 241 24 Q QOELE -43 0 sc/'s
10 279 14 I |nm!{bi -43 O 5c/8
2 3 2-3 24
GPS 6
ephemeris GPS

() WAoo oA iR (b) FFIEE
2-3:
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right ascension of the ascending node ; Q
X

inclination angle ; i

0 GPS 55
argument of perigee ; w
semi major axis ; a b b=avl-e’
eccentricity ; e 0<e<l
e e=0 e=1
true anomaly ; ©
6 6
2-3

GPS mean anomaly
M

M =E-sinE (2-3)

E eccentric
anomaly
: 1-e’sinE
sin@ = L, (2-4)
1-ecosE
CosE —e
cosé =
l1-ecosE
t0

M, t M(t)

M(t) =M, +n(t—t,) (2-5)

mean motion N,
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n, = (%j (2-6)
n
n=n,+An (2-7)
M(t)=M, +27
T period of revolution
3
T=27 |2 (2:8)
M
GPS
t toe M k
t, =t-t, (2-9)
M, =M, +nt, (2-10)
2-3 E,
E, =M, +esinE, (2-11)
2-11 E, =M,
10

E, =E, +esinE,
E, =E, +esinE,

E,., =E, +esinE, (2-12)

|E;,, — E;| = min

2-4 0,
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ECEF earth centered-earth
fixed
P
¢ =6, +o (2-13)
C Hy I I
C C
/uk ¢k uc us cOS 2¢k
r. |=|A@l-ecosE,)|+|C,, C, Y (2-14)
ik i0 + i’tk Cic Cis ‘
ECEF
Qk = QO + (Q, - Q:e)tk - Q;toe (2'15)
X, cosQ, -—sinQ, cosi,
. . r, cosu,
Y |=| siInQ  cosQ, cosi, { ) } (2-16)
L. r,sinu,
Z, 0 sini,
Q! =7.2921151467x10° rad /s
GPS I0DE 10DC
sc=semi-circle ; 1sc=71trad 3.1415926535898
2.15
1~-3
4 5

1~-25
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1 1 22 TLM FLARY)=7—FK
2 31 22 HOW N EF=117—F
3 63 6 SVID i E &=
g9 16 e g -21
4 91 8 toa IHyOHH (PARTY &) 12 g
a9 16 8l Bl -19 [a] s¢
5 121 16 Q' QODERE -38 @) sc/s
137 8 SVhealth i R
6 151 24 LA i 5 -11 ml,/2
7 181 24 Qo CET T a0 -23 [a] 5C
[ 211 24 w i i 2 | B -23 [a] s¢
9 241 24 MO EHFEH -23 [a] sC
10 271 8 MSB af0 20§ FRE
279 11 afl 70y 2 HERE -38 O s/s
290 3 LSB af2 70y 7HERE -20 @] 5
4 2~5
7~10 5 1~24 32 32
2-5
th
2.1.6
100km GPS
4

18 26y By Py 8
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2-6:
[ J—F EvFOmMEY PR AR Ar—N] R [ 1ii]
1 1 22 TLM FLARU=7—F
2 31 22 HOow Ny EF=I1T7=F
3 63 6 SV ID A—2 | D=56
A4 8 O N R -30 &) 5
77 8 o4 EENEEEE -27 [e) s/sc
4 91 ] o RSl IE 08 2 -24 [e] s/sc?
g 8 CE EEMEEES -24 (@] s/sc”
107 8 Bo B O T (R 11 [a] 5
5 121 8 B EEREFER 14 o) s/sc
129 8 B N O 16 [e) s/sc
137 8 B ENEREERS 16 QO g/sc?
B 151 24 A, UTCISA—#% -50 [e] s/sc”
7 181 | 24 MSB = -
g 211 e Leh Ao UTCHSA—4% 30 0 5
219 8 T .. 12 5
227 8 WN, Iy 7WE (UTC) 0 weeks
9 241 8 At e REORME 0 5
249 8 WN s HPoES 0 weeks |
257 8 ON MRroE#H 0 days |
10 271 8 Aty gr EwEome 0 §
| - | — 4 —
/! \
a |
£ 20 /
: \
= - ' AMP \
5
: 3
| ;
u b= = .
= PERZ ——==
% 3 12 18 24
WwhEEE, v (n)
2-4 :
1 5ns
14 2-4
x> x*
F|5x107° + AMP(l——+—j . |x <157
Tiono (tL) = 2 24 (2-17)

5x10°F . |x=1.57
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2-17 X

 _ 27(t, ~14x3600)

PER
tL
GPS t
t, =12x 36004, +t
A, AMP
ao -0(3
3 .
AMP =" o, @y,
i=3
@ [rad] @, [rad]
EL AZ
0.00137
=————-0.022 |sC
VT ELto011 [c]

b0 =0, +wcosAZ [sc]

é |40 < 0.416
¢ =1 0.416 ¢, >0.416 [sc]
—-0.416 ¢, <-0.416

14

(2-18)

pierce point

(2-19)

(2-20)

Dus Ay

semi-circle

(2-21)

(2-22)

(2-23)
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b2, ®, [sc]
@, =¢ +0.064c0s(4, —1.617) [sc]
EL
GPS
F =1.0+16.0(0.53—- EL)®

2-5

1) 1 1 i L L 1 1 1

0 10 20 20 40 H 0 O B85 9¢
ELEVATION ANGLE (dogrea)
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21.7 UTC
GPS GPS GPS GPS
MCS GPS
(USNO ; US Naval Observatory)
GPS GPS USNO
4 18 GPS uTC
uTcC
GPS t UTC tire
tyre =1 —Alyre
Atyre = Ats + Ay + Al(t _tot)
A,,A, USNO uTC
1 At s =13s
GPS uTC 2-6
2.2
221
i r [m]
pi[m] o[s]
pseudorange rn=p, +Co=p, +5S
pi (xy.2), i

Pi :\/(Xi - x)? +(y; - y)? +(z, -1)°

[m] N

16

MCS

JST
(2-27)

(2-28)

ot

(xy,2)

(2-29)
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r :\/(Xi _X)z + (Y, _y)z +(z _2)2 +3

r, :\/(Xi _X)Z +(, _y)2 +(z; _2)2 +S

' :\/(Xi _X)2 + (Y, —Y)2 +(z _2)2 +3

X,Y,2,S 3
2-30 o
4 4
2-31 2
X,Y,2Z
4 1
1 2-6
S
1
S

2-31

17

(2-30)

XY, 2
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1 XVY,25 x%,y%,z°%s°
(2) XO,yO,ZO,SO
R =0 —x") 2+ (y, —y°)2 +(z, - 2°)2 +5°
B =6 =X+ (y, - ¥°)? +(z, —2°)% +5° (2-31)
R =Xy =Xx°)2 +(yy —¥°)? +(z —2°)% +5°
(3) r Ar, =1 —r°
(4) XO’yO,ZO’SO
I’i xXVY,Z,S
8r 0 0 ar 0 0
—4=—(x. —x")/r", —=—(y, - Ir”,
P X —x)/r, Y (yi—-vy)
(2-32)
L g, 2°)in, Toa
0z 0S
x%,y°%, z°%s° AX, Ay, Az, As

Ar, :%Ax+%Ay+%Az +%As
OX oy 0z 0s

Ar, = aLAX+6LAy+%Az +%As
OX oy 0z oS

(2-33)

Ary = ony AX + oy Ay + oy AZ+ oy As
OX oy 0z 0s

Ar, AX, Ay, Az, As
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GPS
AX, Ay, Az, As x%,y%,z°%s°
Xt =x° + AX, y =y" +Ay,
(2-34)
7' =7+ Az, st =s% + As,
xtytzh st 2) AX, Ay, Az, As
“4)
AX =[Ax Ay Az As]", AR=[Ar, Ar, Ar 1"
4
GAX = AR (2-36)
G
fon o on on ] [—(=X) -(h-y) -(-2)
ox oy o0z 05 n n n
a, o o o | | ==X —(,-y) —(2,-2)
G=lox oy oz o5 |~ r, r, r, (2-36)
ory ory ory  ony —(Xy=X) =(yy-Yy) —(zy-2) 1
Lox oy oz O0s | | Iy ry Iy |
GPS 2-35
4 (G 4x4 ) G
AX =G'AR (2-37)
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2-38 g,
GAX +¢=AR (2-38)
&1
&,
g=|" (2-39)
€y
&
2-38
& =AR - GAX (2-40)
P f
N
f= Z (&; )2
i1
=g'¢ (2-41)

= (AR —GAX)' (AR = GAX)
= ARTAR —2AR"GAX + AX T (G'G)AX

T f AX

i:—2ARTG +2AXT(G'G)=0 (2-42)
OAX
AXT(G'G)=AR'G

(AB)" =BT AT G'G

G'G =AX =G'AR (2-43)

AX
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AX =(G'G)'G'AR

AX
2.2.2
GPS
2-35
(X,Y,2)
AXAXT =(G"G) G ARAX'
=(G"G)'ARAR’
ARAR" = 52
ARAR" o’ (
G'6)™
On On Orn Oy
0'2 0'2 0'2 0'2
H — (GTG)—l — );X );y );Z );S
GZX Gzy O-ZZ GZS
oy 04 0L og
H (x,¥,2,5)

RMS(Root Mean Square)

RMS position error =c*(H,, + H,, + H,;)

2.2.3 DOP Dilution of Precision

21
(2-44)
AX
AX
AXT
(2-45)
)
(2-46)
« )
(2-47)
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DOP 2 1 o
2 DOP PDOP(Position DOP) TDOP(Time
DOP)
PDOP = = [02 + 02 + 0% = JHy, + H, + Hy, (2-48)
O
TDOP = 11/055 =JH,, (2-49)
o
GDOP Geometric DOP
1 2 2 2 2
GDOP == |02 + 0% +0% + 04 =[Hy, + Hy + Hyy + Hy, (2-50)
O
GPS DOP
RMS(3D position estimation error) =c — PDOP (2-51)
RMS(Clock bias estimation error)=c—-TDOP (2-52)

RMS(3D position and clock bias estimation error)=oc—-GDOP (2-53)

c
ECEF
DOP AX ECEF
ENU East,North,Up AX
(x,y,2) AX .y = (AX, Ay, A7)
AX L(x,y,z) = (AXE ’ AYn ' AZu)

AXL(x,y,Z) — RL 0 AX(nyvz) :ﬁ AX(XYVVZ) (2-54)
As 0 1| As "l As
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AX | = (AXg, Ay, Az, AS) 2-47 H
EDOP? . ° .
~ ° NDOP? ) °
H = (2-55)
° ° VDOP? .
° . ) TDOP?

EDOP EastDOP NDOP North DOP VDOP \Vertical DOP TDOP
HDOP VDOP

HDOP =/H,, + H,, (2-56)

VDOP = /H., (2-57)
RMS horizontal error = o —HDOP (2-58)
RMS vertical error = o —-VDOP (2-59)

RMS 3D error = /o’ + 02y +0l, = \/afx +o0p +0, =0c—PDOP  (2-60)

224

(J—k) P oy =0 (] #k)

Py =—r— (2-61)
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24
x? Xy )
—-2p,———+—=(01-p;)C (2-62)
GX GX UZ GZ
C
(x",y) P C
po1- exp(%) (2-63)
pxy
= cov(x',y") (2-64)
0,0,
2-63 C=6 P =95.02%
95% 95%
o,=0,=0 Py =0 2-62
x> +y*=Co? (2-65)
2-63 P=05 C (1.1774)° 117740
50% 50%
[5] CEP Circular Error Probable drms
X,y

drms =vo? + 6% =+/20 (2-66)

CEP =1.177c = 0.833drms 2-67

2-66
Co® (C/2)drms? C=6 1.73drms  95%
Co?® 2(2drms)? C=8 264 C 8
P =98.16% 98.16% 2drms
X y

drmszo, =0 1
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2drms 95.45%
95.45% 98.16%
Jx = GXXGO
o, =0,0,
2-65 Py
2.25
2 1
Accuracy
2
4-3 a
4-3 a
4-3 ¢

4-3

25
2drms
2-61
(2-67)
X—= y1 y =X
Precision 2
4-3 4-3 4
4
4-3 b

2drms
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L

4-3:

2.3

2.3.1 WGS-84

Tokyo datum
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2-7: WGS-84
§ WGS - 84X E&NBE (Tokyo datum)
¥ ¥ 5 P iU ith EE 4R R
ERER WGS - 84MA Besseli§ M {k
a) 6378137m B6377397.155m
H¥FEE (1) 1/298.257223563 1/299.152813
BREOITIE® HhIR S {4
"y iy L“
:%—WGS - 34%”“‘ X
| EEOEN HEEE : _EBN
S L GP S AT =8 _SJANE
i
BITER 1984 By i i 4R
1(TR)
L
P Y(TOK)
wae L
P Y(65)
xcroky” ' \
.n.x:-u?l.s;m | AZ=EN. Am
4 Y=507.26m
X(WES
2-7 . WGS-84
GPS
WGS : World Geodetic
System WGS GPS

WGS-84
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WGS-84 2-7
X X -147.54
y =Yy +| 507.26 (2-68)
WGS-84 z Tokyo 680.47
GPS ECEF WGS-84
ITRF International terrestrial reference frame
WGS-84 ITRF
GPS
2.3.2
GPS WGS-84 . reference
ellipsoid ellipsoidal height
40m
100m
geoid
h H 2-8
H=h-N (2-70)
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GPS/INS

3.1 Inertial Navigation System INS
INS

3.2 GPS/INS
GPS INS

Kalman Filter

Loose Coupling
INS GPS

INS Loose Coupling GPS

Tight Coupling
GPS INS Tight Coupling Loose

Coupling GPS

Loose Coupling

3.3 GPS Kalman Filter
3.3.1 Kalman Filter
1.Updata

X, = AX, +Bu, , (3-1)
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P, = AP_,A" + BQB’"

Q u
Q=E[uu"]

2.Correct
K, = Pk’HT(HPk’HT +R)*
X =% +K, (z, —HX)
P.=(-KH)P

Zk
z, =HX, +¢
R ¢
R=E[es"]
3.3.2

a, | |cosg, —sing, | a
a,| [sing, cosg, |a,

t+At
Pea = A "'J; odt = ¢, + oAt

30

(3-2)

(3-3)

(3-4)

(3-5)

(3.6)

3.7)

(3.8)

(3-9)

(3-10)

(3-11)
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HEY
~ + At (3-12)
y k Vy K

333 P

Aa, | |cos(p+Ad), —sin(g+Ag), || a; +Aa, cosg, -—sing, | a;
Aa, | |sin(g+Ag), cos(g+Ad), | a, +Aa, sing,  cosg, | a,

{— (a, cosg, +a, COS%)}[A ]7{_8"1 é. COSg, }[Aaf}

(a; cosg, —a,sing,) cosg,  sing, | Aa,

(3-13)

[A ]k+1 = (¢ + A¢) kel ¢k+1
~ ((p+AQ), +(@+ Aw)At) — (4, + wAt)

=[1][Ad], +[At][Aw] (3-14)
[Avx} {vx + Avx} {vx}
AVy k+1 Vy +AVy k+1 Vy k+1
'V, +Av, a, +Aa, v, a,
_vy +Avy ) a, +Aay ) v, ) a, )

[Av, Aa,
= + At (3-15)
Av, ) Aa

Yk
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" ag
Av
Av
AX
Ay

Jk+1

Ax}
Ay k+1

{X+Ax} {x}
Y+AY |, LY

Ly+Ay]

1 0 0

—(a; cosg, +a,cosg )At 1 O
(a; cosg, —a,cosg )At 0 1
0 At 0

0 0 At

At 0 0 ]
0 -singAt cosgAt |

+| 0 cosg At sing At
0 0 0

0 0 o |

I:)k a1~

1

k+1

[x+Ax| |V, +Av,
+ At)
L LV, TAY )

"Ax] [Av,
} + At
_Ay ) AVy )

APAl +B,QB/

0

—(a; cosg, +a cosg, )AL 1
(a; cosg, —a,cosg )At 0O
0 At

0 0

32

X v,
_(Mk {ijm)

(3-16)
0 0f Ag |
0 0 Av,
0 OfAv,
1 0| Ax
0 1] Ay |,
Aw
Aa, (3-17)
Aa,

(3-18)
0 0 O]
0 0O
1 00 (3-19)
0 10
At 0 1
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At 0 0
0 -—sing At cosg,At
B, =| 0 cosgAt singAt (3-20)
0 0 0
| 0 0 0 |
334 P
i ¢|Ns _¢GPS 11 0 00 O“A¢_
Vians ~ Vxaps 0100 0)Ay,
Z=|Vys —Vyeps [=|0 0 1 0 OfAv, |+Vv (3-21)
Xins — Xaps 0 001 O] Ax
| Yins —Yers | [0 O 0O O 1§ Ay |
1 0 0 0 O]
01 00O
H=/0 0 1 0O (3-22)
00010
10 0 0 0 1]
K=PHT(HPHT +R)™ (3-23)
P(P)
P=(1-KH)P (3-24)
3.3.5 INS

Ag Kalman Filter
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GPS/INS

><\<<<

<x < < -

Jafter correct L

Ag I ¢|Ns -
A\7X Vians
AVy =Kz = K| Vs
AX Xins

| AY L Yins —

before correct

—Vieps
- VyGPS

— Xgps

¢GPS

Yeps |

Ag

Av,

A
A

AX

~

LAY

34

(3-25)

(3-26)
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A U v
+— 600m /™
4-2
4-3

wn =1x (rand (1) —0.5)

0 100 200 300 400
ERGL T CD))
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MATLAB

v IRDA /A4 X1

- RDAR/ A X2

RIAR/A4 X3
RIAR/A X4
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RIAS AX(E)

4-4

wn =0.1x (rand (1) — 0.5)

100 200 300
FE@ R RIRD)
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MATLAB

« IRDAR/ AR
- IRDA/AX2
HRIA R/ A4X3
ROA S/ AX4
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wn =0.2x (rand (1) —0.5)

S
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B ERE(RY)
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MATLAB
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FUF LIA—D4

A"‘Aﬁ ’L .

‘”.«W ‘ 1* Vb

« IUF LA D1
- IUF LA D2

SV LTA—D3
I LTA—D4

4-6

100

200 300 400

i 268 R e (F1)

()



4.2

YA [ D FEEE(m)
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